SHER CADF D O— R B IILOCHER BSRLEHER R—LX—=Ih5 |

www.iwata-fa.jp

”
4

iwata

N
Xy pauy rps—  SEEE s )

AUy MEBICKD . Vv T hEBDIF DT LB LLHOMITINTEET

“:ﬂ 010703

IHREDRINZFIRLTIS Ty FORD PP Y FAS—DBEENTEX T,

2 BB LA o % SUS304
HEiS ME - RENIE 1R B
Cl | $% S45C E#w FRATFEIN(BED) 15 =
M | % S45C . EERE= 7 ILAYF | ARA TRV (SUSKXMT) 1R N3
S | AFL-X SUS304 AANMFEIS(SUSXMT7) 1R SCS 1515

+0.05
dBio.o1
1
1
n
n

#D+0.1

L/2

L+0.1

AE15mm. f&15mm. 24

BT mm

men | PSR | susaos
s
15(15/ 40| M6xP1.0 |28 |15| 13| 8 | M6x20 | SCS1515[IN3 | 1,200 | 1,250 | 1,850
16|15/ 40| M6xP1.0 |28 [15 | 13 8 | M6x20 SCS 1615 N3 1,200 1,250 1,850
20(15| 45| M6XP10 |34 |15| 15| 8 | M6x20 | SCS2015[ N3 | 1,300 | 1,550 & 2,150
25(15|50 | M6XP10 |38 |15 | 18 | 10 | M6x25 | SCS2515[ N3 | 1,450 | 1,650 | 2,450
301555, MBXP1.0 | 44 |15 20 | 10 | M6x25 | SCS3015 N3 | 1,650 | 2,050 2,850
3515/ 60| MBXP10 |48 |2 | 23|12 | M6x25 | SCS3515[IN3 | 1,750 | 2,250 | 4,150
40(18| 70| M8xP125 | 56 |2 | 26 | 13 | M8x30 | SCS4018_|N3 | 2,100 | 2,550 | 4,850




